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Practice Problem | :

Part a: — Surviveel
urve
203
## s+ ,z;‘“ =+ 122+ 203 =| 0,6246 l
0203
## Died Survived " "E -
##  1lst 122 203 ™ B Terens =’ O.ti4o0 !
## 2nd 167 118 . :
i -
## 3rd 528 178 g 1?8 T .—[Z-zszl [
## Crew 673 212 e é 2a e
rew =
i e L I
Part b:
, + Sex = Female
Survived F M E m
Class Survived Total o2
1st 141 145 14 2=
2nd 93 106 1% s tgo |5 0972 o84
3rd 90 196
Crew 20 23 R £ 25 .
- g 706 F=vy = o 0. 87 0.134
, . Sex = Male
,.. 0 13
Survived 3 '142 510 3 0.459 0.172
Class Survived Total
1st 62 180 Crew | 20 192 Crew 0-%69  0.222
2nd 25 179 23 562
3rd 88 510
Crew 192 862
Part c:

Total Female pussengers:  [4S + 106 + 196 + 23 = H?0
Tolal - mule  passengers i 1¥0 + (34-+ 510 + 862 =. 173l

] uro -
Tolil poportion of demele  pussengensi o = | o.:uss,

Tokul propordion of  wule possengers: 1321 _ r—’ﬂ“u
Ui+ 131 02264



Part d:
% of pussenges who sunivd (F) % dolul  poporkion o pessemgevs (€)

+ % of pussenges  who sunivd (M) X dolul  pwporkion - of pess enmgevs (M)

o Clss: (0.972)(0.2135) + (6.3u4)(0.3864) =| 0.4%9 {
Ind Class : (0, 517)(0.2138) + (0.133)(0.3564) =[0'2"’ri
3l Class: (0.459)(0.2138) + (0.172) (0.#561) :I o.z;w]

Crew: (0-869)(0.2133) + (0.222)(0.3864) = lo.ssu ]

Practice Problen 2:

@ Popovtion of ppl who suwived by Sex:

1+ 4 20 P
F: 14 43 + 90 = E"ﬁ = IO‘73]‘{[
4G + 106 + 196 + 23 u7o -
M: 62 + 25 + &+ 192 _ 367 _,‘m
180 + 174 + B5I0 + %62 1731 —

@ o ot pussengess of each Sox boken  down by cluss:

. Is+ 2nd 3nd Creww
£ il a3 40 20
s 106 ITh 23
62 25 13 19z
m: 7%0 174 510 %62
Ist 2nd and Crews

E: 0972 0.5+ ous4 0.96%

Mm: 0.34Y4 0.1 0.172 0.222



@ Finding fotel  To of pussenyes for  each class:

st i 145+ 180 l 0.4 ?‘6/
2201

2nd : (06 + 174 /
220|

1

3 196 + 5l0 _ ’ o,ggm-l

2201

Cos T 23+ 862 | 0.1026)]
220) .

I

@) female : (0.1476)(0.472) + (0.1294)(0.33?) + (6.3202)(0.US%) +(0.4020)(0.%6F) [= 0. 754 |

Male : (0.1476)(0.354) + (0.129+1)(0.1839) + (6.3207) (0. 1%2.) +(0.10206)(0. 222)

[= 0.214]



